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PNA21-01[#2[E]: 1F [BiLiEER4 ] LB 14 [X4:+50,Y19:+19]
BRI
IR MRIA () WI-00 0 0 0 0 0 0 1EEFREMER)
FR:
BILHEER: 1
+/NER1-(FBE & 5 1%)] 0.120%0.90 = 0.108 m2
BB 2
+/NER1-(F5E 5 i%)] 3.440%0.90 = 3.096 m2
BB 3
+[/NER:1-(F5E & 5 1%)] 0.120%0.90 = 0.108 m2
BB 4
+/NER1-(FBE 5 i%)] 3.440%0.90 = 3.096 m2
Ll EBSTIBER/NEL: = 6.408 m2
LLE/NEt: +6.408 = 6.408 m2

PNA21-01[#8[E]: 1F [BiLfEER4TR]: LB 13 [X4:+82,Y19:+19]
B BRI E:
BIEERMRIAFE(NHWI-O0 000000 1E2EFEMIZEE)
FRF:
FESTHEER: 1
+[/ME:1-(F5 & Z 52H%)] 0.120*0.90 = 0.108 m2
T SIIEER: 2
+[/ME1-(F5E Z 52 )] 3.440%0.90 = 3.096 m2
FESIIEER: 3
+[/ME:1-(F3 & Z 52%)] 0.120*0.90 = 0.108 m2
FESTIEER: 4
+[/MB1-(F5E Z 52 )] 3.440%0.90 = 3.096 m2
YL LS HEE/MET: = 6.408 m2
LL_E/NVEt: +6.408 = 6.408 m2

PNA21-01[#8[E]: 1F [BiLiGEX &R SLEFHE: 1 [X0:+9308,Y6:+159]
BIBEREETE:
ISR RIA (1) Wa-0 0 1 2.35*2.35cm(x2mm) & 5
FR~T:

BEIINEER: 1
+[/NEE: 1B N ER] 5.300%0.15 = 0.795 m2

LB B /MET: = 0.795 m2
LLE/NEE: +0.795 = 0.795 m2

PNA21-01[#8[E]: 1F [BILHEERATE] ERFHR: 2 [X0:+9618,Y17:-214]
BIEREETE:
SIS AR RIA $:(1) W5-001 1 2.35*2.35cm(£2mm) B &5
FR-H(BETHER):
0.93 = 0.930 m2
LLE/MEE: +0.930 = 0.930 m2

PNA21-01[#&/E]: 1F [BiiBER& ] [ EFHE: 3 [X0:+9178,Y17:-221]
B REREEIEETE:
B ASER I RIA $L:(1) WE-0I 10 10 2.35*2.35cm(x22mm) E&E =
FR~T:

BILHBER: 1
+[/NER1-JB LB ER] 2.500%0.15 = 0.375 m2

L BB B /NET: = 0.375 m2
LLE/NEE: +0.375=0.375m2

PNA21-01[#8[E]: 1F [BifERE]: MLERFR: 4 [X1:-57,Y8:+54]
BB SR E
ﬁﬁfﬁgrmu*m:m) PA-SE MR IE TS KIS (R 3 E)(E8)
R+t
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TEIIHEER: 1

+[/NER: 1B ER] 2.600%0.35 = 0.910 m2
LU BB /MET: = 0.910 m2

LLE/NEE: +0.910 = 0.910 m2

PNA21-01[#2[E]: 1F [BiLiEE4 ] LB 5 [X2:+97,Y15:+134]
BB
ﬁﬁf};&;ﬂfﬁﬁw*ﬂf:m KA | A RITERAL2.352.35cmB R
BILHEER: 1
+[/NER1-JB LB ER] 2.880%0.15 = 0.432 m2
BB 2
+[/NER1-JB LB EX] 0.300*0.15 = 0.045 m2
BILHEER: 3
+[/NER1-JB LB ER] 2.880%0.15 = 0.432 m2
BB 4
+[/NER1-JB LB ER] 0.300*0.15 = 0.045 m2
YL EBSI B /NG = 0.954 m2
LLE/NVEt: +0.954 = 0.954 m2

PNA21-01[#&&]: 1F [ﬁﬁﬂ%&%%«ﬁ]::{ﬁ%%%ﬁ:} 1 "[xzn:-11"8,YK15:"+13:4]

BIIEEREEHE:
ﬁﬁfﬁ%}_ﬁﬁﬂﬁﬂ:m) FKE HEHRITEmL2.35*2.35cmEE R

R+t
BILHBER: 1

+[/NER1-JB I ABER] 1.180%0.35 = 0.413 m2
BILAEER: 2

+[/NE&1-FEB L AB ER] 0.300*0.35 = 0.105 m2
BILIEER: 3

+[/NER1-FE I ABER] 1.180%0.35 = 0.413 m2
BILIBER: 4

+[/NE&1-JEB L AB ER] 0.300*0.35 = 0.105 m2
KL BB SR/ NET: = 1.036 m2

LLE/NET: +1.036 = 1.036 m2

PNA21-01[#£/8]: 1F [BiiBERATE]: BRI 7 [X2:-127,Y6:+161]
BB BEE:
éﬁﬁfﬁaﬁrﬁﬁuiﬁﬂzm) KB M AITE®mL2.35*2.35cmEER
Rt
TEIIHEER: 1
+[/NEE:1-FB I N ER] 1.600%0.15 = 0.240 m2
HEIIHEER: 2
+[/NE%:1-B I HE ER] 0.330%0.15 = 0.050 m2
WEIIHEER: 3
+[/NEE: - BTN ER] 1.600%0.15 = 0.240 m2
HEIINEER: 4
+[/NEE:1- B3I HE ER] 0.330%0.15 = 0.050 m2
YU B/ MET: = 0.579 m2
LLE/NEE: +0.579 = 0.579 m2

PNA21-01[#&/8]: 1F [BiLi&ERL ] LERFR: 8 [X2:-127,Y6:+189]
B BEREEBETE:
ﬁﬁiﬂﬁéﬁ_r%ﬁu*ﬂ#:m HKE /A RITE®mAL2.35*2.35cmEER
TEIIHEER: 1
+[/NER:1-1B 3L §EF%] 1.600%0.05 = 0.080 m2
LU BT &R /NET: = 0.080 m2
Lk /NEE: +0.080 = 0.080 m2
ﬁﬁiﬁ%éﬁ_r%ﬁuﬁﬂ:(z) HKE I EARITEEIR1SDAEBKEERHEG
EIIHEER: 1
+[/NER:1-1B L §E %] 1.600%0.25 = 0.400 m2
LU BT HEER/NET: = 0.400 m2
LLE/NEE: +0.400 = 0.400 m2

PNA21-01[4#8&]: 1F BiLisER%TaE]: ,1ﬁﬁ}$%ﬁ: 6x[X2:+9x7,Y15:;140]
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BIABEREEHE:
BIBERMRIAME(1) KA / A AITE®mL2.35*2.35cmEER
R~
TEIIHEER: 1
+[/NE 1 -JEST B ER] 0.350%0.05+[/NER: - 2- 38 31 #% %] 0.070*0.05 = 0.021 m2
HEIINEER: 2
+[/NEE: - B I ER] 3.120%0.05 = 0.156 m2
VLRI B /DA = 0.177 m2
LLE/NEE: +0.177 = 0.177 m2
ﬁﬁfﬁﬁ_}kﬁﬁumﬂz(z) HKE I ERRITEEIE1SDAEBKEERNEG
Rt
TEIIHEER: 1
+[/NE 1 -JE ST ER] 0.350%0.25+[/NER - 2- 38 3L #% %] 0.070*0.25 = 0.105 m2
HEIINEER: 2
+[/NEE: 1B I ER] 3.120%0.25 = 0.780 m2
YL LB HEE /DA = 0.885 m2
LL_E/NEL: +0.885 = 0.885 m2

PNA21-01[#2]: 1F [BifBERLE]: fAERFSR: 12 [X2:-112,Y15:+140]
B BRI IEETE:
éﬁﬁiﬂﬁﬁﬁfmuffﬂizm) KB A RITE®mAL2.35*2.35cmEER
Rt
TEIIHEER: 1
+[/NER:A-FBST KB ER] 0.350*0.05+[/NER: 2- 38 3 15 E%] 0.070*0.05 = 0.021 m2
BEIHEER: 2
+[/NER:1-E I ER] 1.300%0.05 = 0.065 m2
LU BB /MET: = 0.086 m2
LLE/NEL: +0.086 = 0.086 m2
ﬁﬁiﬂﬁéﬁ_r%ﬁw*iz(z) HKE I ERRITEER1SDAEBKEEHEG
TEIIHEER: 1
+[/NER:A-FBST KB ER] 0.350%0.30+[/NE%: 2- 3B 3L 15 E%] 0.070*0.30 = 0.126 m2
BIIHEER: 2
+[/NER:1-EII N ER] 1.300%0.30 = 0.390 m2
LU LB B /AT = 0.516 m2
LI E/NEL: +0.516 = 0.516 m2

PNA21 %21 [EE]_I-é:F [BIAEER R FE] MEFHR: 10 [X2:-127,Y8:-107]
BB EEEE:
ﬁﬁfﬁﬂgﬁﬁﬂﬁ*ﬂ:(ﬂ SEKE I HERAITE®EIL2.35*2.35cmEER
R~t:
BIIHEER: 1
+[/NERA-FB ST HEER] 1.600%0.15 = 0.240 m2
BIEER: 2
;ghﬁ&“ﬂ-ﬁﬁ%ﬁ&] 0.180%0.15+[/INE:2- 1B 3T $&E&] 0.150*0.15 = 0.050 m2
FEIANEER: 3
Y[/NER: 1B ER] 1.60070.15 = 0,240 m2
BIEEL: 4
J:;gl\aﬁi g -5]5%%%5&] 0.150%0.15+[/INE:2- 1B 37 $&EX] 0.180*0.15 = 0.050 m2
LA BB HEEY /N = 0.579 m2
HJ:IJ\%‘I': +0.579 = 0.579 m2

PNA21-01[#8[E]: 1F [BILiEERLE] MERFR: 9 [X2:-127,Y8:-136]
BB RS E
E%f%?mﬁﬂm)%mﬁ/ﬁﬁﬁﬂ&ﬁ%z%vﬁ&mﬁgﬁ
R+t
FESTHEER: 1
+[/NEE1-JEB L AB ER] 1.600*0.05 = 0.080 m2
YL EESIHEE /AT = 0.080 m2
KL E/VEt: +0.080 = 0.080 m2
E%f%?mﬁﬂﬂn%mﬁ/ﬁﬁﬁﬂ&ﬁﬁuﬁﬁ@%ﬁﬁ%ﬁ
R+t
FESTHEER: 1
+[/NEE1-$E L ABER] 1.600%0.25 = 0.400 m2
YL LRSI B/ MET: = 0.400 m2
LL_E/VEt: +0.400 = 0.400 m2
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